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2A: FUASH
M FOIAE A2 23t
ot ZQIEHEE 2 (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
=oASH 8,139,154 7,804,081 335,073
= 87,860 89,160 A1,300
Al 84,000 30,000 54,000
= 7,967,294 7,684,921 282,373
FoUAS A Zat 7,335,020 7,006,863 328,157
= 68,259 69,559 21,300
Al 84,000 30,000 54,000
i 7,182,761 6,907,304 275,457
Z2IotEAy AH 4,441,420 4,113,263 328,157
= 68,259 69,559 A1,300
Al 84,000 30,000 54,000
= 4,289,161 4,013,704 275,457
=USY ASHE 161,830 126,830 35,000
201 2Bt ] 135,180 100, 180 35,000
03 Ar=2EHI 103,000 68,000 35,000
O3brsSToa (e T2HME)
3% 45,000,000 45,000 10,000 35,000
F2se & 23N 75 1,497,390 1,472,390 25,000
301 Let2AZ 59,706 591,706 5,000
06 A= HUHAHIXA 324,640 319,640 5,000
0224 2g4| &4d 38,000,000 38,000 36,000 2,000
OO0FAMH| &3 57,000,000 57,000 54,000 3,000
402 2I2HXHE01H 272,945 252,945 20,000
01 QIZtXH2 AL 2 (KM TH ) 272,945 252,945 20,000
Ost=F2MOtS3 20,000 0 20,000
OHHES 27| +&
20,000,000 1CH 20,000 0 20,000
FOITRIMIE 29 1,608,626 1,444,169 159,457
301 LetEAZ 1,023,440 1,000,280 23,160
1“2 d= 1,006,440 983,280 23,160
OFBXXIME T2 29 2A=E
& 969,000,0002 969,000 945,840 23,160
401 AIEHIZL 20| 23,800 6,800 17,000
01 AlIZHI 23,800 6,800 17,000
O=2UXXIHE A2 22AS 23,800 6,800 17,000
OFsH Sl Hi= SAt
17,000,000& 17,000 0 17,000
405 RHak S| 263,787 144,490 119,297
01 MM =S F SHI 263,787 144,490 119,297
OBANE FLUXXIME 4,940 0 4,940
OtltiE=zAH 4,940,000 = 1CH 4,940 0 4,940
O24ts FUXXIHH 94,890 0 94,890
OF:ImE=ES 2,800,000 «1CH 2,800 0 2,800
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S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
OO0IHELOI 2,800,000 «1CH 2,800 0 2,800
OAOIAHA 2,770,000 +1CH 2,770 0 2,770
OIS (AHEH) 2,700,000 *1CH 2,700 0 2,700
OHIXI Zell ANl 2,680,000 *2CH 5,360 0 5,360
Oo2Zou 2,680,000 «1CH 2,680 0 2,680
OAoIEaz2A2H 2,500,000 *1CH 2,500 0 2,500
OXEHA(SHHA!)

2,500,000 *1CH 2,500 0 2,500
OdlazeA 2,300,000 *1CH 2,300 0 2,300
OMAE=ZYA 2,000,000 «1CH 2,000 0 2,000
O=HZdA 1,650,000 *1CH 1,650 0 1,650
OALY(AEMOIZR)
1,300,000 *4CH 5,200 0 5,200
OESIAEMN(2018) 700,000 *1CH 700 0 700
Ostol=el 2,100,000 «1CH 2,100 0 2,100
OS3HIX 300,000 *2CH 600 0 600
Ocdd Al 3,280,0002 * 10CH 32,800 0 32,800
OAEH 1,500, 0003 *2CH 3,000 0 3,000
oorz&elt(2gh) 1,000,000 «1CH 1,000 0 1,000
OEHME 1,000, 000& «2CH 2,000 0 2,000
OHIZAME 1,000,000 *2CH 2,000 0 2,000
OAGBEE(201 ) 900,000 *2CH 1,800 0 1,800
OEltHt2Z 800,000& *1CH 800 0 800
OHtEEelt 700,000 *1CH 700 0 700
OZYHA 450,000 «2CH 900 0 900
O2AEXTEHIX 450,000 «2CH 900 0 900
OF#Hbt 150, 0002 *1CH 150 0 150
osgs 150,000 *5CH 750 0 750
OQlHtL] 3,600,000 «1CH 3,600 0 3,600
OdsHRe 1,580,000 *1CH 1,580 0 1,580
OHIOIEEd0tALKID| 950,000 *1CH 950 0 950
OHMSH 500,000 *1CH 500 0 500
O =H 1,400,000 «2CH 2,800 0 2,800
O&EYs FRIAXIHH 14,033 11,133 2,900
odd 300,000 *3SET 900 0 900
OAIlH 500,000& *4H 2,000 0 2,000
OF=4=¢=RESIPNINFull= 51,548 45,69 5,852
OXRYHNE 140,000& *2SET 280 0 280
OHXIME 81,000& =2SET 162 0 162
OEEAME 1,600,000 *1SET 1,600 0 1,600
OdXEY g 610,000& x 14 610 0 610
OAIlA ¢E 500,000& *14! 500 0 500
O &+ 170,0002* 107K 1,700 0 1,700




2A: FUASH
M FOIAE A2 23t
ot ZQIEHEE 2 (SH9 H2)
- B - S(B) - HIRAY - BES o 8 o HImE2
OIHIA 250,000 44 1,000 0 1,000
Oos&d FUAXHH 6,434 4,19% 2,240
O= & 160,000& * 1474 2,240 0 2,240
OFSH FLUXXIHE 20,255 14,255 6,000
Osdiial 3,000, 0002 *2CH 6,000 0 6,000
OFANE F=LUXXIHH 18,379 15,904 2,475
OEg2d 165,000 * 1574 2,475 0 2,475
SEOIEF2UXNE XHE2s 2 18,500 19,800 A1,300
= 1,000 2,300 A 1,300
= 17,500 17,500 0
2oty 18,500 19,800 21,300
= 1,000 2,300 A 1,300
i 17,500 17,500 0
AR 18,500 19,800 A 1,300
S&t0 SZE3
&d&d 9,500,000& 9,500 10,800 A1,300
= 1,000 2,300 21,300
= 8,500 8,500 0
PlE=]E 586,713 476,713 110,000
Al 84,000 30,000 54,000
= 502,713 446,713 56,000
et 150,000 40,000 110,000
Al 84,000 30,000 54,000
= 66,000 10,000 56,000
01 At 30,000 0 30,000
OBZs S 2= A 30,000,000& 30,000 0 30,000
03 A2 120,000 40,000 80,000
o=sels 2 BEEAMHIAS € 29
&d3d 120,000,000 120,000 40,000 80,000
Al 84,000 30,000 54,000
= 36,000 10,000 26,000
Y 2IIHI(FASH 465,150 458,234 6,916
I 24| 391,393 384,477 6,916
oIH2HHI(FRAS 391,393 384,477 6,916
101 1A 391,393 384,477 6,916
01 2= 136,946 130,619 6,327
(2EH = 136,946 130,619 6,327
O6= BE 12,84 +45A1 2058« 122 34,679 33,834 845
ors BE 11,6022 #4bA1 2H:6F 12 31,326 36,674 5,348
Os= BE 10,4162 +46A12H+6B« 122 33,748 32,925 823
O9= & 9,860 #bAI 2t 4B« 122 21,298 20,780 518
od=zz2(L2)
BE 12, 1582 #45A1 2t 1H« 122 6,566 6,406 160




A FASH
M AHHPHAHI(FRUASEN)
&2l I 2| (EEEE))
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
OZFIIA 9,329 0 9,329
e 11,6022 +67 A 2H+1H 128 9,329 0 9,329
02 JIEtA === 254,447 253,858 589
O(LEAIIM L AIRHIERADIHI)AIZERI2
g 24,181 23,592 589
OLerAINA
A 11,6022 %4541 2+ 1H« 128 6,266 6,113 153
OZAAEEH (2I2)
ZE 10,416R+25A 2+ 1H« 128 3,125 3,049 76
OS4H UM, HAGREE, &S AHOL
2) ZE 9,800 +25A| 2H5H 12 14,790 14,430 360




